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Energy spread vs. charge?
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ASTRA/CSRtrack vs. Elegant

[µm]s

[µm]s

[µm]s

[kA]I

[meV]E

[meV]E



50 100 150
0

20

40

60

80
betax

50 100 150
0

20

40

60

80
betay

50 100 150
0

1

2

3
emitx

50 100 150
0

1

2

3
emityy

ASTRA/CSRtrack vs. Elegant

[µm]s

[µm]s

[µm]s



-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2

-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2
ElegantASTRA/CSRtrack

[keV]

100
Eσ

[kA]I

[µm]xε

[µm]s

[µm]yε

[µm]s

[kA]I

[µm]xε
[µm]yε

[keV]

100
Eσ



-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2

-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2

Convergence of  results (ASTRA/CSRtrack)

[µm]s

[kA]I

[µm]xε
[µm]yε [keV]

100
Eσ

[µm]s

[kA]I

[µm]xε
[µm]yε

[keV]

100
Eσ

Mesh=30×60

Particles=200k
Mesh=60×120

Particles=800k



-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2

2.5

-150 -100 -50 0 50 100 150
0

0.5

1

1.5

2

2.5

Q=1nC vs. Q=0.5 nC

330fs 330fs

[kA]I

[µm]xε
[µm]yε

[keV]

100
Eσ

[µm]s

[kA]I

[µm]xε

[µm]yε

[keV]

100
Eσ

[µm]s



30 40 50 60
0

10

20

30

40

50

60

70

30 40 50 60
0

10

20

30

40

50

60

70

[m]xβ

[m]z

[m]yβ

[m]z



26 28 30 32 34 36 38 40
0

2

4

6

8

10

12

-150 -100 -50 0 50 100 150
0

20

40

60

80

100

[m]z

[m]yβ

6.5 [keV]Eσ

[µm]

6.5

s

29.6[m]z =

25.3[m]z =

-150 -100 -50 0 50 100 150
0

20

40

60

80

100

29.6[m]z =

35.9[m]z =

6.5 [keV]Eσ

[µm]

6.5

s



-150 -100 -50 0 50 100 150
0

20

40

60

80

100

6.5 [keV]Eσ

[µm]

6.5

s

38[m]z =

35.9[m]z =

-150 -100 -50 0 50 100 150
0

50

100

150

26 28 30 32 34 36 38 40
0

2

4

6

8

10

12

[m]z

[m]yβ

38[m]z =

67.6[m]z =


